
SR. NO. QUESTIONS A B C D CORRECT ANSWER

1

What does The New Economic  Policy aims for liberalise internal trade Imports Production Growth of 
exploitation

Production

2

The Price at which the government procures grains from 
producers

Procurement Price Minimum Support Price Issue Price Statutory 
Minimum Support 
Price

Procurement Price

3

As per classification what is the investment criteria for Small 
enterprises?

Upto 25 Lakhs 25 Lakhs - 5 Crore 5 Crore - 10 Crore 2 Crore - 5 Crore 25 Lakhs - 5 Crore

4

Which of the following is not a part of the classification of 
industries on the basis of ownership?

Public sector Consumer goods sector Private sector Joint sector Consumer goods sector

5

Which of the following is not the part of industrial policy of 
1991?

Abolition of industrial licensing FDI Permitting foreign technology Competition Act Competition Act

6

Which among the following banks is not  a foreign sector 
bank?

AB Bank Yes bank Ltd HSBC ltd BNP Paribas Yes bank Ltd

7

The objective of SAARC is to promote co-operation and 
growth in the field of

Economics Politics Religion Custom Economics

8

SEBI was established as a non-statutory body in the year 1988 1977 1966 1955 1988

9

Which of the following money market instrument is issued by 
commercial banks?

Commercial Paper Commercial Bills Certificate Deposits Treasury Bills Certificate Deposits

10

The number of RRBs in recent years has increased decreased remained constant Stable decreased
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